Grundwassermessstelle 1
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0,00
10.03.14 23.06.14 08.09.14 08.12.14 13.07.15
=@==Atrazin 0,02 0,00 0,02 0,00 0,02
== Desethylatratz. 0,08 0,01 0,02 0,04 0,09
== Grenz. Desethylatratz. 0,10 0,10 0,10 0,10 0,10
=3¢=Summe PSM 0,10 0,01 0,04 0,05 0,11
60,0
50,0
40,0
S
[o14] 30,0
E
20,0
10,0
0,0
10.03.14 23.06.14 08.09.14 08.12.14 13.07.15
=== Nitrat 24,9 22,5 22,5 23,7 23,8
e Grenz. Nitrat 50,0 50,0 50,0 50,0 50,0




Grundwassermessstelle 2

0,14
0,12 /
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- \ \ /{
0,02
0,00 . 4
10.03.14 23.06.14 08.09.14 08.12.14 13.07.15
=== Atrazin (ug/!) 0,01 0,00 0,00 0,00 0,02
== Desethylatraz. (ug/l) 0,06 0,00 0,03 0,04 0,10
== Grenzw. Desethylatraz. (ug/l) 0,10 0,10 0,10 0,10 0,10
=3¢=Summe PSM (ug/) 0,10 0,01 0,03 0,05 0,12
60,00
50,00
40,00
= * —— —— —_—— —
S
1) 30,00
E
20,00
10,00
0,00
10.03.14 23.06.14 08.09.14 08.12.14 13.07.15
== Nitrat (mg/I) 33,80 33,00 33,20 32,70 33,90
=== Grenz. Nitrat (mg/l) 50,00 50,00 50,00 50,00 50,00




Grundwassermessstelle 3
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o \ / /
— 0,06 \ /
0,04 \
0,02 /
0,00
10.03.14 23.06.14 08.09.14 08.12.14 13.07.15
=== Atrazin 0,02 0,00 0,02 0,01 0,03
== Desethylatraz. 0,02 0,00 0,02 0,03 0,10
== Grenzw. Desethylatraz. 0,10 0,10 0,10 0,10 0,10
=>=Summe PSM 0,10 0,01 0,02 0,04 0,13
60,0
50,0
40,0
S
léb 30,0
[ S— +
— o ‘\
20,0
10,0
0,0
10.03.14 23.06.14 08.09.14 08.12.14 13.07.15
== Nitrat 25,4 27,0 27,7 28,6 23,7
Grenz. Nitrat 50,0 50,0 50,0 50,0 50,0




Datum

10.03.2014
23.06.2014
08.09.2014
08.12.2014
13.07.2015

Atrazin

0,01
0,01
0,01
0,01
0,02

Desethyl-

atraz.

0,09
0,01
0,03
0,03
0,10

Grenzw.

Desethylatraz.

[ue/1]

0,1
0,1
0,1
0,1
0,1

Summe PSM Nitrat

0,09
0,01
0,03
0,03
0,12

24,4
20,1
14,9
22,0
19,4

Grenzw.
Nitrat

50,0
50,0
50,0
50,0
50,0



[ng/l]

0,14

0,12

0,1

0,08

0,06

0,04

0,02

Diagrammtitel
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10.03.20|23.06.20|08.09.20|08.12.20|13.07.20
14 14 14 14 15

=== Atrazin

0,01 0,01 0,01 0,01 0,02

== Desethyl-atraz.

0,09 0,01 0,03 0,03 0,10

==Grenzw. Desethylatraz.

0,1 0,1 0,1 0,1 0,1

=== Summe PSM

0,09 0,01 0,03 0,03 0,12




Ortsnetz Obernburg
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0,10
p—
NN
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0,06 A
x / x\x
/ "
0,02
¢ 4 \ i i J 4 L g
0,00
10.03. | 21.07. | 08.09. | 08.12. | 16.03. | 06.05. | 13.07. | 05.10.
2014 2014 2014 2014 2015 2015 2015 2015
=@=Atrazin 0,01 0,01 0,01 0,01 0,01 0,01 0,01 0,01
== Desethylatraz. 0,04 0,03 0,01 0,01 0,01 0,01 0,07 0,03
Grenzw. Desethylatr. | 0,10 0,10 0,10 0,10 0,10 0,10 0,10 0,10
=3¢=Summe PSM 0,04 0,03 0,01 0,01 0,01 0,01 0,07 0,03
2 Ampa 0,05 0,05 0,05
® Glyphosat 0,05 0,05 0,05
60,0
50,0
40,0
=
30,0
E
20,0 / N4
0,0
10.03 | 21.07 | 08.09 | 08.12 | 16.03 | 06.05 | 13.07 | 05.10
.2014 | .2014 | .2014 | .2014 | .2015 | .2015 | .2015 | .2015
==ie= Nitrat 14,9 17,2 16,0 51 19,3 20,6
Grenz. Nitrat | 50,0 50,0 50,0 50,0 50,0 50,0 50,0 50,0




Brunnen |

0,12
0,10
0,08 ;
0,06
=
o
- / \\
0,02
/ S < \l S ¢
0,00
10.03.2 | 23.06.2 | 08.09.2 | 08.12.2 | 16.03.2 | 06.05.2 | 13.07.2 | 05.10.2
014 014 014 014 015 015 015 015
=== Atrazin 0,01 0,01 0,01 0,01 0,01 0,01 0,01
== Desethylatraz. 0,01 0,06 0,03 0,01 0,01 0,02 0,07
Grenzw. Desethylatr.| 0,10 0,10 0,10 0,10 0,10 0,10 0,10 0,10
== Summe PSM 0,01 0,06 0,03 0,01 0,01 0,02 0,08
60,0
50,0
40,0
=
£ 30,0
20,0
100 ”\(/\\M
0,0
10.03. | 23.06. | 08.09. | 08.12. | 16.03. | 06.05. | 13.07. | 05.10.
2014 2014 2014 2014 2015 2015 2015 2015
== Nitrat 11,5 8,3 17,4 5,1 7,4
=== Grenzw. Nitrat| 50,0 50,0 50,0 50,0 50,0 50,0 50,0 50,0




Brunnen li
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0,00
10.03. | 23.06. | 08.09. | 08.12. | 16.03. | 06.05. | 13.07. | 05.10.
2014 | 2014 | 2014 | 2014 | 2015 | 2015 | 2015 | 2015
—o— Atrazin 001 | 001 | 001 | 001 | 001 | 001 | 001 | 001
—@—Desethylatraz. 003 | 001 | 001 | 001 | 001 | 001 | 010 | 0,04
———Grenzw. Desethylatr.| 0,10 | 0,10 | 0,10 | 0,10 | 0,10 | 0,10 | 0,10 | 0,10
—>=Summe PSM 003 | 001 | 001 | 001 | 001 | 002 | 010 | 0,05
60,0
50,0
40,0
—_ 30,0
~
£ e He X
20,0
— »
10,0
0,0
10.03 | 23.06 | 08.09 | 08.12 | 16.03 | 06.05 | 13.07 | 05.10
2014 | 2014 | 2014 | 2014 | 2015 | 2015 | .2015 | .2015
%= Nitrat 173 | 222 | 226 | 210 | 226
———Grenz. Nitrat | 50,0 | 50,0 | 50,0 | 50,0 | 50,0 | 50,0 | 50,0 | 50,0




Brunnen lll

0,12
0,10
_ 0,08
=
= 0,06
0’04 \ /\.
0,02
— = 5 A *
0,00
10.03. 23.06. 08.09. 08.12. 06.05. 13.07. 05.10.
2014 2014 2014 2014 2015 2015 2015
=== Atrazin 0,01 0,01 0,01 0,01 0,01 0,01 0,01
== Desethylatraz. 0,04 0,01 0,01 0,01 0,01 0,04 0,02
== Grenz. Desethylatr. 0,10 0,10 0,10 0,10 0,10 0,10 0,10
=3=Summe PSM 0,04 0,01 0,01 0,01 0,01 0,04 0,02
60,0
50,0
40,0
_ 30,0
S
[=14]
-g- 20,0
10,0 K,
0,0
10.03. 23.06. 08.09. 08.12. 06.05. 13.07. 05.10.
2014 2014 2014 2014 2015 2015 2015
== Nitrat 11,6 11,2 11,9 12,3 10,5
== Grenzwert Nitrat 50,0 50,0 50,0 50,0 50,0 50,0 50,0
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